ABE

3pE

28%

105

R E B E WX
A
EREG 3—2 2-2 1-2 we ‘ 4 NEEIETE
BFIC ] ]
ABERY a VE[ARE/AYa VR
2 BRE® | BREQ we 1-3 1-4 1-5 3@ we
oz oz [ |w| BRE HIE wRE | W=
L_[BFwe] 3 = ||
SE/SVAVE | zmmo W= .
- } § § - § opame | MEE=
2-5 2-4 2-3 BERED We 3-3 3-4 3-5 2R NEAE | ‘gas
| We
i3 =
2 mRE i ERE |mems
5 BHERE
RGH
= - BB e 2] mug| BH . = e 7 e 55
DS = " = | = iy o b HE b
Rig= RinE ; 5 \i;]_ we BREE ﬁ%fgl B AR = ;I_% 18w HEREE EE
: pE®wW] .
A EHE RSHEE |We N bE
(EERBD) L EEEN HE e
A T N
BaE
M| #fEE FEITRE
EAES]
g =
10 FIERE FIERE
HEEE Iﬁlg‘% EHBIE| |
FE
% | _l_ WC
] [
N 58 [ 1
= LE La|ls|le
H ‘% N e e sfae
R —IL - T? T% ;eﬁ.é 5%
2 WcC LFE
R7 LE LE
2/ R7 R7
- 6/ 4
x=E LE
R7
R v 3/ FRLRS
e €7/
|F=§=L R1 RS
We 1EFq
3pE
yd STRM
N 5 = EIHEE| EFLR
Eﬁt| FEE l—'m
B
EMR—IL I I |_| wce —
1'3*5'5% v E7/
wam|| %59 | B [ Exz HEO HEES
9-7 —g | REL%=| 2= [am - sa| BAE 1| E77 3-1
115 Oy ﬁ_‘ EX we BE=E4
IGHEE [FIRIZE] BIALAY
HEE1
BFALAY 2-1
B2
E7/
2R% 1 56 1=1 1-6 We HEE2
E7 7 1-1
HEE1




